Joboooobuoobodobgoobobooobgoboooon

2007MII01 DO OO
obooooog

1 0000

gboboobobOoooobooboboooboooboooo

goooboobo,gobobooocoboobooboboo
obooooooooooobOoboboboobooooo
obooooooooooobOoboboboboooo
oooooOooobOobobobobooboobooooo
oboooooooooooboobooboobobooboo
obooooooooobooobooobooboboboooo
oboooooooOooboobobobobobooooo
gbooooooooobooboboboobooooooo
gbooooooobooboobobobobobooooo
gboooooooooooobooooboboooooo
goooooooboboboboboooooooo
goooooooooooboboooooooooo
goooooooobooooooboboboboboo
goooooooobooobooboboboboooooboo
goooooooooobooboboboboooooo
gooooooooobooboboboboooooo
gbobooooooooooboboboboboooo
goboobooooboooobobobooboboooo
gboboobooooboobobobobobobooboo
O0oooooooooo0 Kooooooooooo

2 Dodooooboboooobbooo

gobbooobbooobooobboobbooon
0000000000o0ooUoooooooooo
gboooobooboobbooboobooobboo
goooobooboobobobobooboooboboo
0oo0ooooooooo 1o
gbooboooobooboobooboobo

@ = Az + Bu, (1)
y=_Czx (2)

000 200000w00000y00000000

3 U0dooooooooood

godoobodoooooboooooooobooon
0O0(V(c)=[B AB..A"'B))

1 0 0 0 |

0 0 1 0

0 1 0 0

Vo 0 0 0 1
¢ —128.00 0 2042 0
123.59 0 4137 0

0 —~128.00 0  29.42

0 123.59 0 4137 |

rank(V,) =4

oono
0 16.40 0 —2352.07
Vo 16.40 0 —2352.07 0
< 0 —8.57 0 1673.09
—857 0 1673.09 0

oooooooo
rank(V,)=400000000000000

4 0OO0DOOOOOOO

gobbooboooobboobobooobooon
0[1j00000000o0oo0o00o0ooooooo
gboogooboobooobooboobooboboo
KoOoooooooooooobooooooooooo
ooboboooooboooooboooooooooooon
oooobooo

- 1 -
X(D=Ax(t)+Bult
J— = -

01000000000

4.1 000000

gobooobooboboobobooobbooon
gboooboobon

0 1 0 00 E(t):
30 —128.00 0 2942 0 0 g:c(t)Q
i | = 0 0 0 10 :f(t)g
12359 0 41.37 0 0 E(t)s
1 0 0 00 (1)
0
16.42
+ 0 alt)
—8.57
0

4.2 0O0OO0OO0O0OO

0000000000 (2000000000000
QU QT >00R>0000000000.J00000



goooooo
J= / 6T Qx + u” Ruldt (3)
0

Q:(nxn),R:(mxm) (4)

Q0000 (Q>0),RO00 (R>0000000
000000000 QOOO00 2()00000000
00000 RODDODDO0O000 «()0000000
000000000000000000000000K =
~R-'BTPOOO0DOOOOOOOOPOOOOOOOO
PA+ATP-PBR'BTP+Q=0000000000
00000000000

() = — /0 e(r)dt (5)

0000000000000000000000000
0 K = [124.8,13.1,159.4,20.9, —5.4) 00000000
0000 0.004/kg) 00 0.056[kg| 0000000000
0000000000000000000000000
00000000000000000000000 (04
0)000000000000000020000000
0000000 0.056kg) 00000000000000
00000000000000000000000000
0000000 0.004[kg] - 0.74[Nm, kg0 m?2/s%),0.056
- 8.14[Nm,kg0m?/s*)0 8000000000000
0ooo0oOoOoOoOoOoOoO0

U1 0000000000000000000

0.004[kg] OO | 0.056[kg] O O

-10.7+16.1j -1.0+24.9j

-10.7-16.1j -1.0-24.9j
0.2 0.4
-7.5+40.1] -2.6
-7.5-0.1 6.4

5 Oouogdooobod

ooboooboooob200000000000000

gboooooooboocooooo

gboooooooooooboooooboobooo

0 1 2

g2 000

i)

gboooobon

0000000 0.004[kg] 00 0.056[kg) 0000000
0000000000000000

03 00000000 0.004[kg]0 00 0.056[kg]

6 UDOUoooogno

0000000000000 0D000D0DOO0000OO
00000000000000DOO0000O0000OO
00000000000000000000000000
000000000000000000000000O0
0000000000000 D000O00O0O00 0.005kg]
000000000 1.18[Nm, kgdm?/s% 0 0.010[kg] O
000 292[Nm,kg0m?/s*]0 20000000000
D000000D0000O00

107 " i " " 10

AE
AE

|

B 1

04 00000000 0.005[kg]000 0.010[kg]

v 0booo

gooooooooboooobobooooobooooo
gboooooooooooboobobobooooooo
gboooooooobooboobobobobobooobooo
00000000000 jooo0ooooooooo
gbooooooooobooboobobobobooboo
gboooooooboooobooboboboboobooo
gboooooooooobooboboboboooo
oobooobooooooobobooobooOoooooboobooon
0000000000 0.00400.056kg) 0000000
oboooooooobOooboboboboobooobooobooo
0.0050 0.010[kg| 0000000 ODUOODOOOOO
oboooboooooobooooooon

gooo

1] 0000000 0oo0oUOooDOooOooOooooo
000000000 000o0oooooo (20030

2l D0DOO0O0OU00OO0OODO0OO0ODODOCOoUOOoooo
0000000000 000000O00ooooO (2004)

[l 000D0000D00o0oUOooOooUOoooooo
O00000000000000o000 (2004)



